[ Efficiency vs vertpos |
~ 0.05

YT SRS R S S—

20 ouk : : :
>\0.04':_"""""3 """""" l' """""" : """"""
(8] F . . .
©.035F oo oo e
o F ; |

U e R a

0.025k -++eesesiseeeenes ooy

0.02F -+ fromen

L e R ol

0.01F-------- e

0.005F
9 G 1 IIIIII! 1 11 11111
= T Ho b doe S A
@ 3 : : :

I S R R O O

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_CKF_TTbase
Efficiend —— poMm_CKF_TT retrainOldFiles125_v2_prelimWPM_epoch2

N 1.2
s e S e

e et o s

efticiency vs ver

R O A T T
s T

e S o e

Ratio

T
*+
+
> 4
$
$
> ¢
=+:

0¥/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05

> i i 5 5 5
00.045E----- fTye A s

€ : : : : :
:/_)004_ """ E’""""E """" o e

9 035 b AR O S
L>)~ F . N N
2 0.03F - wrherereedennees N R B
o : : :
B.025f b R PR SRR
() . N N
0028 - wibeermedrenneees SRR N R SRR
O)(0HL:]: E R FETTPPRPE IPPPRE SPTPRES RORRE B
0.0 R SRLREE

0.005

0
1

T
1
T
i
1
+
H
+
i
L

0 SRS G R ——

Ratio

L AR REEE A EEEAREEEE )

o
©
T

o
o)

10 15 20
Sim. PV z (cm)

I
o
a . -
o
o1



	Contents
	Page 1


